






































検査Ⅴ  工業［共通問題］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

１ 

 

各 3点 

① イ 

② エ 

２ 

 

各 2点 

(1) 27 

(2) 45 

(3) 4 

３ 

8点 
1 

４ 

8点 
6 

５ 

8点 
15 

６ 

8点 
23 

７ 

8点 
5 

８ 

8点 
30 



検査Ⅴ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
１  

 

 

(1) 

 

各 2点 

① ウ,オ 

② ウ 

(2) 

8点 
150 

(3) 

8点 
125.6 

(4) 

8点 
7.5 



検査Ⅴ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
２  

 

 

(1) 

 

各 2点 

① エ 

② ウ 

(2) 

8点 
1.2 

(3) 

8点 
6.4 

(4) 

8点 
320 



検査Ⅴ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
３  

 

 

(1) 

 

各 2点 

① ウ 

② エ 

(2) 

8点 
35.0 

(3) 

8点 
36 

(4) 

8点 
21.4 ，16.8 



 

検査Ⅴ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
４  

 

 

(1) 

 

各 2点 

① ア 

② キ 

(2) 

8点 
12.0 

(3) 

8点 
224 

(4) 

8点 
70.9 



 

検査Ⅴ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
１ 

(1)  

8点 
エ 

(2)  

8点 
オ 

 

 

 

 

 

問題 

番号 
２ 

(1)  

8点 
ウ 

(2)  

8点 
エ 

 

 

 

 

 



 

検査Ⅴ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
３ 

(1)  

8点 
ウ 

(2)  

8点 
オ 

 

 

 

 

 

問題 

番号 
４ 

(1)  

8点 
ア 

(2)  

8点 
ウ 

 

 

 

 

 



 

検査Ⅴ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
５ 

(1)  

8点 
イ 

(2)  

8点 
ウ 

 

 

 

 

 

問題 

番号 
６ 

(1)  

8点 
オ 

(2)  

8点 
エ 

 

 

 

 

 



 

検査Ⅴ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
７ 

(1)  

8点 
イ 

(2)  

8点 
エ 

 

 

 

 

 

問題 

番号 
８ 

(1)  

8点 
イ 

(2)  

8点 
エ 

 

 

 

 

 



 

検査Ⅴ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
９ 

(1)  

8点 
ウ 

(2)  

8点 
エ 

 

 


